Chapter 5 Defining Rates
               Name ___________________________ Date __________________

Directions: Choose the correct multiple choice answer for each question.  You will receive 1 point for the correct answer and 1 point for SHOWING YOUR WORK!  Total points = 10 points.  

1) Which statement represents “a gallon (G) contains 16 cups (C)”?
a) There are 16 G per 1 C. 

b) There are 16 C per 1 G.

c) There are 16 C per 16 G.

d) There is 1 C per 16 G.

2) Choose the following that is equivalent to “A Red (R) rod contains 2 White (W) rods.”  
a) There are 2 W per 2 R.

b) There is 1 W per 2 R.  

c) There are 2 R per 1 W.

d) There are 2 W per 1 R.

3) What is the correct formula for “There are 2 cups (C) per pint (P)?  

a) C = 2 P

b) P = 2 C

c) 2 P = 2 C

d) P = C

4) What formula matches with the chart?  

	X
	0
	1
	2
	3
	4
	5

	Y
	0
	3
	6
	9
	12
	15


a) Y = X + 3

b) Y = 3X

c) X = Y – 2

d) X = 3Y

5) A fair costs 2 dollars (D) per ride (R) and 5 dollars (D) to get in.  You come up with the formula: D = 2 R + 5 to figure out how much you spend.  Which graph shows this?  
a)                                                                                b)

c)






d)

